Tabulation of Bids

Awarded to:	Date Awarded:	Amount Awarded
Michels Road & Stone, Inc. 817 Main St. Brownsville, WI 53006	11/18/24	Base Bid: \$3,859,456.40 Alt. A: \$1,335,772.45 Alt. B: \$237,859.75 Alt. C: \$383,146.25 Alt. D: \$398,065.80 TOTAL = \$6,304,300.65

	Project Manager:	Wendy Hottenstein, P.E.	Consultant:	Mead & Hunt, Inc.
State of Wisconsin	Airport:	Kenosha Regional Airport	Bid Date:	5/9/2024
Department of Transportation	Project:	AIP 3-55-0029-30; ENW1007	Bid Time:	2:00 P.M.
Bureau of Aeronautics	Bid for:	Reconstruct Runway 15-33 & Reconstruct Rwy & Twy B lighting	DBE Goals:	6.85%

DESCRIPTION: Base Bid: Reconstruct Rwy 15/33 south of Twy A Alt A: Reconstruct Rwy 15/33 north of Rwy 7L/25R Alt B: Reconstruct Rwy 15/33 lighting Alt C: Reconstruct Taxiway B lighting Alt C: Reconstruct Taxiway B lighting Alt D: Guidance Signs & Rwy 15/33 REILS & Windcones				817 Main St.	317 Main St.		A.W. Oakes & Son, Inc 2000 Oakes Rd. Racine, WI 53406		Willkomm Excavating & Grading, Inc. 17108 County Line Rd. Union Grove, WI 53182		
Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
C105.010	MOBILIZATION (10% MAXIMUM)	1	LS	\$196,774.50	\$196,774.50	\$383,000.00	\$383,000.00	\$400,000.00	\$400,000.00		
P101.040	PAINT REMOVAL	2000	SF	\$1.69	\$3,380.00	\$2.00	\$4,000.00	\$2.00	\$4,000.00		
X152.010	COMMON EXCAVATION	11850	CY	\$20.00	\$237,000.00	\$18.60	\$220,410.00	\$11.30	\$133,905.00		
P154.012	SUBBASE COURSE	16345	TON	\$18.00	\$294,210.00	\$16.25	\$265,606.25	\$29.00	\$474,005.00		
P160.100	REMOVING PCC PAVEMENT	18100	SY	\$8.00	\$144,800.00	\$5.00	\$90,500.00	\$10.00	\$181,000.00		
P160.110	REMOVE ASPHALT SURFACE	5670	SY	\$4.90	\$27,783.00	\$6.00	\$34,020.00	\$5.00	\$28,350.00		
X160.211	REMOVE FLUSHING RISER	14	EACH	\$1.00	\$14.00	\$200.00	\$2,800.00	\$1,600.00	\$22,400.00		
P160.300	REMOVE STORM SEWER UNDER 30 INCH DIAMETER	150	LF	\$28.00	\$4,200.00	\$30.00	\$4,500.00	\$154.00	\$23,100.00		
X160.306	REMOVE UNDERDRAIN	4610	LF	\$12.00	\$55,320.00	\$3.00	\$13,830.00	\$20.00	\$92,200.00		
P203.010	BACKFILL GRANULAR GRADE 2	25	CY	\$85.00	\$2,125.00	\$48.00	\$1,200.00	\$55.00	\$1,375.00		
X209.012	CRUSHED AGGREGATE BASE COURSE A60K	9430	TON	\$41.40	\$390,402.00	\$36.00	\$339,480.00	\$30.10	\$283,843.00		
X215.051	CONCRETE PAVEMENT RUBBLIZATION	19300	SY	\$3.20	\$61,760.00	\$4.50	\$86,850.00	\$2.00	\$38,600.00		-
P401.110	HMA PAVEMENT SURFACE, GRADATION 2, 58-28 H	4880	TON	\$96.25	\$469,700.00	\$105.00	\$512,400.00	\$103.00	\$502,640.00		
P401.200	HMA PAVEMENT BINDER, GRADATION 2, 58-28 H	6390	TON	\$92.10	\$588,519.00	\$101.00	\$645,390.00	\$96.35	\$615,676.50		
P401.400	HMA PAVEMENT LEVELING, GRADATION 3, 58-28 H	300	TON	\$155.00	\$46,500.00	\$136.00	\$40,800.00	\$162.15	\$48,645.00		
P401X	HMA INCENTIVE BONUS	39000	DOL	\$1.00	\$39,000.00	\$1.00	\$39,000.00	\$1.00	\$39,000.00		
X501.009	FULL-DEPTH REPAIR OF CONCRETE PAVEMENT	200	SF	\$65.00	\$13,000.00	\$39.00	\$7,800.00	\$21.50	\$4,300.00		
P603.010	EMULSIFIED ASPHALT TACK COAT	2900	GAL	\$3.00	\$8,700.00	\$3.00	\$8,700.00	\$3.15	\$9,135.00		-
X620.111	PAINTING WHITE, WATERBORNE TYPE I	10600	SF	\$0.95	\$10,070.00	\$1.00	\$10,600.00	\$1.00	\$10,600.00		
X620.311	PAINTING YELLOW, WATERBORNE TYPE I	4400	SF	\$0.95	\$4,180.00	\$1.00	\$4,400.00	\$1.00	\$4,400.00		
X620.411	PAINTING BLACK, WATERBORNE, TYPE I	11500	SF	\$0.95	\$10,925.00	\$1.00	\$11,500.00	\$1.00	\$11,500.00		
X620.710	REFLECTIVE MEDIA TYPE I GRADATION A	950	LB	\$0.75	\$712.50	\$1.00	\$950.00	\$0.80	\$760.00		
P621.010	SAW-CUT GROOVES	20350	SY	\$2.27	\$46,194.50	\$4.25	\$86,487.50	\$2.10	\$42,735.00		
P640.015	SAWING ASPHALT	540	LF	\$1.75	\$945.00	\$3.00	\$1,620.00	\$1.85	\$999.00		
P640.025	SAWING CONCRETE	980	LF	\$2.35	\$2,303.00	\$3.00	\$2,940.00	\$2.50	\$2,450.00		
P642.010	FIELD OFFICE, TYPE C	1	EACH	\$10,500.00	\$10,500.00	\$9,000.00	\$9,000.00	\$20,000.00	\$20,000.00		
X643.010	AIRPORT CONSTRUCTION TRAFFIC CONTROL	1	LS	\$85,245.00	\$85,245.00	\$69,000.00	\$69,000.00	\$180,000.00	\$180,000.00		
X645.035	GEOTEXTILE FABRIC TYPE SR	26470	SY	\$4.25	\$112,497.50	\$4.30	\$113,821.00	\$3.00	\$79,410.00		
P646.010	MAINTENANCE AND REPAIR OF HAUL ROADS	1	LS	\$1.00	\$1.00	\$15,000.00	\$15,000.00	\$106,000.00	\$106,000.00		
X646.020	MAINTENANCE AND REPAIR OF AIRPORT HAUL ROADS	1	LS	\$250,100.00	\$250,100.00	\$75,000.00	\$75,000.00	\$59,900.00	\$59,900.00		
D701.646	STORM SEWER REINFORCED CONCRETE CLASS V 24-INCH	185	LF	\$100.00	\$18,500.00	\$166.00	\$30,710.00	\$178.00	\$32,930.00		
D701.506	APRON ENDWALLS FOR CULVERT PIPE REINFORCED CONCRETE 24-INCH	2	EACH	\$1,286.00	\$2,572.00	\$1,800.00	\$3,600.00	\$1,779.00	\$3,558.00		
D705.106	AIRPORT UNDERDRAIN 6-INCH	5730	LF	\$32.00	\$183,360.00	\$29.00	\$166,170.00	\$61.00	\$349,530.00		
D705.201	AIRPORT UNDERDRAIN RISER	31	EACH	\$1,728.00	\$53,568.00	\$450.00	\$13,950.00	\$1,800.00	\$55,800.00		
T901.011	SEEDING MIXTURE NO. 20	900	LB	\$10.50	\$9,450.00	\$10.00	\$9,000.00	\$9.10	\$8,190.00		
T901.030	SEEDING TEMPORARY	150	LB	\$5.00	\$750.00	\$5.00	\$750.00	\$4.30	\$645.00		
T902.020	FERTILIZING TYPE B	21	CWT	\$150.00	\$3,150.00	\$100.00	\$2,100.00	\$80.00	\$1,680.00		-
T905.015	SALVAGED TOPSOIL	24200	SY	\$4.20	\$101,640.00	\$4.50	\$108,900.00	\$1.15	\$27,830.00		

D				T 1						
T908.020	Description HYDRO-MULCHING	Quantity 36300	Unit SY	Unit Price \$0.65	Total \$23,595.00	Unit Price \$1.00	Total \$36,300.00	Unit Price \$1.00	Total \$36,300.00	Unit Price Total
L108.101	LOCATE AND PROTECT EXISTING CIRCUITS	1	LS	\$10,000.00	\$10,000.00	\$11,000.00	\$11,000.00	\$10,400.00	\$10,400.00	
L108.320	COUNTERPOISE PLOW	8500	LF	\$1.35	\$11,475.00	\$1.50	\$12,750.00	\$1.41	\$11,985.00	
L108.508	5000 VOLT CABLE NO. 8	7000	LF	\$1.95	\$13,650.00	\$2.25	\$15,750.00	\$2.04	\$14,280.00	
L108.706	BARE COUNTERPOISE WIRE NO. 6	9500	LF	\$1.30	\$12,350.00	\$1.50	\$14,250.00	\$1.36	\$12,920.00	
L108.810	COUNTERPOISE GROUND ROD	25	EACH	\$160.00	\$4,000.00	\$200.00	\$5,000.00	\$168.00	\$4,200.00	
X108.260	REMOVE CABLE FROM EXISTING DUCT	5000	LF	\$1.00	\$5,000.00	\$1.10	\$5,500.00	\$1.05	\$5,250.00	
L110.121	ELECTRICAL DUCT TYPE-I 2-INCH 1-WAY	650	LF	\$20.00	\$13,000.00	\$22.00	\$14,300.00	\$20.92	\$13,598.00	
L110.221	ELECTRICAL DUCT TYPE-II 2-INCH 1-WAY	5500	LF	\$10.00	\$55,000.00	\$11.00	\$60,500.00	\$10.46	\$57,530.00	
L125.209	RUNWAY IN-PAVMENT LIGHT, L-850C(L),	1	EACH	\$2,500.00	\$2,500.00	\$3,000.00	\$3,000.00	\$2,615.00	\$2,615.00	
L125.343	CLASS 2, MODE 1, STYLE 2 MEDIUM INTENSITY TAXIWAY LIGHT, L- 861T LED, BASE MOUNTED	70	EACH	\$1,056.25	\$73,937.50	\$1,200.00	\$84,000.00	\$1,105.00	\$77,350.00	
X125.343	REINSTALL SALVAGED MEDIUM INTENSITY	14	EACH	\$791.25	\$11,077.50	\$900.00	\$12,600.00	\$828.00	\$11,592.00	
L125.320	TAXIWAY LIGHT, ON NEW BASE CAN MEDIUM INTENSITY RUNWAY AND	4	EACH	\$1.041.25	\$4,165.00	\$1,200.00	\$4,800.00	\$1,089.00	\$4,356.00	
V405 000	THRESHOLD LIGHT, BASE MOUNTED		F4011	\$475.00	********		044 700 00	2407.00	******	
X125.600	ADJUST ELEVATED EDGE LIGHT REMOVE RUNWAY OR TAXIWAY STAKE		EACH	\$475.00	\$13,300.00	\$525.00	\$14,700.00	\$497.00	\$13,916.00	
L125.610	MOUNTED LIGHT REMOVE RUNWAY OR TAXIWAY BASE	41	EACH	\$95.00	\$3,895.00	\$110.00	\$4,510.00	\$99.40	\$4,075.40	
L125.620	MOUNTED LIGHT, PER EACH SPARE ELECTRICAL EQUIPMENT, BASE	49	EACH	\$150.00	\$7,350.00	\$200.00	\$9,800.00	\$157.00	\$7,693.00	
X125.650	BID DIRECTIONAL BORE 1-WAY, 2-INCH	1	LS	\$1,925.00	\$1,925.00	\$2,000.00	\$2,000.00	\$2,013.81	\$2,013.81	
NS110.001	CONDUIT	200	LF	\$28.50	\$5,700.00	\$30.00	\$6,000.00	\$27.72	\$5,544.00	
311.0110.S	BREAKER RUN	2000	TON	\$40.60	\$81,200.00	\$31.00	\$62,000.00	\$45.38	\$90,760.00	
611.0410	RECONSTRUCTING CATCH BASIN	1	EACH	\$1,050.00	\$1,050.00	\$2,500.00	\$2,500.00	\$1,516.89	\$1,516.89	
628.1504	SILT FENCE	540	LF	\$2.00	\$1,080.00	\$4.00	\$2,160.00	\$3.20	\$1,728.00	
628.1520	SILT FENCE MAINTENANCE	540	LF	\$0.01	\$5.40	\$1.00	\$540.00	\$0.05	\$27.00	
628.1905	MOBILIZATIONS EROSION CONTROL	2	EACH	\$400.00	\$800.00	\$150.00	\$300.00	\$106.71	\$213.42	
628.1910	MOBILIZATIONS EMERGENCY EROSION CONTROL	1	EACH	\$400.00	\$400.00	\$200.00	\$200.00	\$160.06	\$160.06	
628.2008	EROSION MAT, URBAN CLASS I TYPE B	1900	SY	\$2.50	\$4,750.00	\$2.50	\$4,750.00	\$2.29	\$4,351.00	
628.7005	INLET PROTECTION TYPE A	4	EACH	\$175.00	\$700.00	\$100.00	\$400.00	\$80.03	\$320.12	
628.7504	TEMPORARY DITCH CHECKS	50	LF	\$10.00	\$500.00	\$6.00	\$300.00	\$5.34	\$267.00	
628.7560	TRACKING PADS	3	EACH	\$2,300.00	\$6,900.00	\$3,000.00	\$9,000.00	\$3,267.33	\$9,801.99	
628.7570	ROCK BAGS	20	EACH	\$15.00	\$300.00	\$25.00	\$500.00	\$21.34	\$426.80	
Base Bid To				440.005.05	\$3,859,456.40	****	\$3,835,194.75	2440 700 00	\$4,306,281.99	
C105.010	MOBILIZATION (10% MAXIMUM)	1	LS	\$42,205.95	\$42,205.95	\$140,000.00	\$140,000.00	\$143,700.00	\$143,700.00	
X152.010	COMMON EXCAVATION	2500	CY	\$20.00	\$50,000.00	\$18.60	\$46,500.00	\$14.97	\$37,425.00	
P154.012	SUBBASE COURSE	3750	TON	\$18.00	\$67,500.00	\$16.25	\$60,937.50	\$32.97	\$123,637.50	
P160.100	REMOVING PCC PAVEMENT	6430	SY	\$8.00	\$51,440.00	\$5.00	\$32,150.00	\$8.13	\$52,275.90	
X160.211	REMOVE FLUSHING RISER REMOVE STORM SEWER UNDER 30 INCH	4	EACH	\$1.00	\$4.00	\$200.00	\$800.00	\$1,674.00	\$6,696.00	
P160.300	DIAMETER	160	LF	\$21.00	\$3,360.00	\$30.00	\$4,800.00	\$154.00	\$24,640.00	
X160.306	REMOVE UNDERDRAIN	1600	LF	\$14.00	\$22,400.00	\$3.00	\$4,800.00	\$19.88	\$31,808.00	
P160.160	REMOVE FENCE, 10-FOOT DEER FENCE	750	LF	\$5.92	\$4,440.00	\$8.00	\$6,000.00	\$6.19	\$4,642.50	
P203.010	BACKFILL GRANULAR GRADE 2	25	CY	\$85.00	\$2,125.00	\$48.00	\$1,200.00	\$52.31	\$1,307.75	
X209.012	CRUSHED AGGREGATE BASE COURSE A60K	2440	TON	\$39.90	\$97,356.00	\$36.00	\$87,840.00	\$30.10	\$73,444.00	
X215.051	CONCRETE PAVEMENT RUBBLIZATION	11100	SY	\$3.00	\$33,300.00	\$4.50	\$49,950.00	\$1.05	\$11,655.00	
P401.110	HMA PAVEMENT SURFACE, GRADATION 2, 58-28 H HMA PAVEMENT BINDER, GRADATION 2,	1960	TON	\$96.25	\$188,650.00	\$101.00	\$197,960.00	\$102.78	\$201,448.80	
P401.200	58-28 H HMA PAVEMENT LEVELING, GRADATION 3,	2610	TON	\$92.10	\$240,381.00	\$99.00	\$258,390.00	\$96.35	\$251,473.50	
P401.400	58-28 H	200	TON	\$155.00	\$31,000.00	\$136.00	\$27,200.00	\$162.15	\$32,430.00	
P401X	HMA INCENTIVE BONUS	17000	DOL	\$1.00	\$17,000.00	\$1.00	\$17,000.00	\$1.00	\$17,000.00	
P603.010	EMULSIFIED ASPHALT TACK COAT	1200	GAL	\$3.00	\$3,600.00	\$3.00	\$3,600.00	\$3.14	\$3,768.00	
X620.111	PAINTING WHITE, WATERBORNE TYPE I	9600	SF	\$0.85	\$8,160.00	\$1.00	\$9,600.00	\$0.89	\$8,544.00	
X620.311	PAINTING YELLOW, WATERBORNE TYPE I	400	SF	\$0.85	\$340.00	\$1.00	\$400.00	\$0.89	\$356.00	

Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price Total
X620.411	PAINTING BLACK, WATERBORNE, TYPE I	3600	SF	\$0.85	\$3,060.00	\$1.00	\$3,600.00	\$0.89	\$3,204.00	
X620.710	REFLECTIVE MEDIA TYPE I GRADATION A	610	LB	\$0.75	\$457.50	\$1.00	\$610.00	\$0.78	\$475.80	
P621.010	SAW-CUT GROOVES	10550	SY	\$2.27	\$23,948.50	\$4.25	\$44,837.50	\$3.00	\$31,650.00	
P640.025	SAWING CONCRETE	590	LF	\$2.35	\$1,386.50	\$3.00	\$1,770.00	\$2.46	\$1,451.40	
P642.010	FIELD OFFICE, TYPE C	1	EACH	\$3,000.00	\$3,000.00	\$4,500.00	\$4,500.00	\$1,569.20	\$1,569.20	
X643.010	AIRPORT CONSTRUCTION TRAFFIC	1	LS	\$18,850.00	\$18,850.00	\$58,000.00	\$58,000.00	\$75,322.00	\$75,322.00	
X645.035	GEOTEXTILE FABRIC TYPE SR	7070	SY	\$4.25	\$30,047.50	\$4.30	\$30,401.00	\$2.98	\$21,068.60	
P646.010	MAINTENANCE AND REPAIR OF HAUL	1	LS	\$1.00	\$1.00	\$10,000.00	\$10,000.00	\$58,353.00	\$58,353.00	
X646.020	ROADS MAINTENANCE AND REPAIR OF AIRPORT	1	LS	\$115,400.00	\$115.400.00	\$50,000.00	\$50,000.00	\$81,111.00	\$81,111.00	
X162.070	HAUL ROADS CHAIN-LINK FENCE GATE, 10' HIGH X 24'			,	,	,		,		
	WIDE WILDLIFE EXCULUSION FENCE, 10'	1	EACH	\$15,542.00	\$15,542.00	\$18,000.00	\$18,000.00	\$16,259.00	\$16,259.00	
X164.013	HEIGHT STORM SEWER REINFORCED CONCRETE	750	LF	\$33.88	\$25,410.00	\$39.00	\$29,250.00	\$35.44	\$26,580.00	
D701.646	CLASS V 24-INCH	165	LF	\$103.00	\$16,995.00	\$166.00	\$27,390.00	\$200.86	\$33,141.90	
D701.506	APRON ENDWALLS FOR CULVERT PIPE REINFORCED CONCRETE 24-INCH	2	EACH	\$1,414.00	\$2,828.00	\$1,800.00	\$3,600.00	\$1,778.43	\$3,556.86	
D705.106	AIRPORT UNDERDRAIN 6-INCH	1540	LF	\$22.00	\$33,880.00	\$29.00	\$44,660.00	\$69.04	\$106,321.60	
D705.201	AIRPORT UNDERDRAIN RISER	10	EACH	\$1,691.00	\$16,910.00	\$450.00	\$4,500.00	\$1,893.50	\$18,935.00	
T901.011	SEEDING MIXTURE NO. 20	350	LB	\$10.50	\$3,675.00	\$10.00	\$3,500.00	\$9.07	\$3,174.50	
T901.030	SEEDING TEMPORARY	100	LB	\$5.00	\$500.00	\$5.00	\$500.00	\$4.27	\$427.00	
T902.020	FERTILIZING TYPE B	8	CWT	\$150.00	\$1,200.00	\$100.00	\$800.00	\$80.03	\$640.24	
T905.015	SALVAGED TOPSOIL	8200	SY	\$4.20	\$34,440.00	\$4.50	\$36,900.00	\$1.35	\$11,070.00	
T908.020	HYDRO-MULCHING	12300	SY	\$0.65	\$7,995.00	\$1.00	\$12,300.00	\$1.05	\$12,915.00	
L108.101	LOCATE AND PROTECT EXISTING CIRCUITS	1	LS	\$5,000.00	\$5,000.00	\$6,000.00	\$6,000.00	\$5,230.67	\$5,230.67	
X108.260	REMOVE CABLE FROM EXISTING DUCT	1200	LF	\$1.00	\$1,200.00	\$1.10	\$1,320.00	\$1.05	\$1,260.00	
L108.320	COUNTERPOISE PLOW	4000	LF	\$1.35	\$5,400.00	\$1.50	\$6,000.00	\$1.41	\$5,640.00	
L108.508	5000 VOLT CABLE NO. 8	1500	LF	\$1.95	\$2,925.00	\$2.25	\$3,375.00	\$2.04	\$3,060.00	
L108.706	BARE COUNTERPOISE WIRE NO. 6	4000	LF	\$1.30	\$5,200.00	\$1.50	\$6,000.00	\$1.36	\$5,440.00	
L108.810	COUNTERPOISE GROUND ROD	10	EACH	\$160.00	\$1,600.00	\$200.00	\$2,000.00	\$167.38	\$1,673.80	
L110.121	ELECTRICAL DUCT TYPE-I 2-INCH 1-WAY	55	LF	\$20.00	\$1,100.00	\$22.00	\$1,210.00	\$20.92	\$1,150.60	
L110.221	ELECTRICAL DUCT TYPE-II 2-INCH 1-WAY	1000	LF	\$10.00	\$10,000.00	\$11.00	\$11,000.00	\$10.46	\$10,460.00	
L125.343	MEDIUM INTENSITY TAXIWAY LIGHT, L-	18	EACH	\$1,056.25	\$19,012.50	\$1,200.00	\$21,600.00	\$1,104.98	\$19,889.64	
X125.343	861T LED, BASE MOUNTED REINSTALL SALVAGED MEDIUM INTENSITY	4	EACH	\$791.25	\$3.165.00	\$900.00	\$3,600.00	\$827.76		
	TAXIWAY LIGHT, ON NEW BASE CAN				**,		44,555		\$3,311.04	
X125.600	ADJUST ELEVATED EDGE LIGHT	22	EACH	\$475.00	\$10,450.00	\$525.00	\$11,550.00	\$496.91	\$10,932.02	
L125.610	REMOVE RUNWAY OR TAXIWAY STAKE MOUNTED LIGHT	10	EACH	\$95.00	\$950.00	\$110.00	\$1,100.00	\$99.38	\$993.80	
L125.620	REMOVE RUNWAY OR TAXIWAY BASE MOUNTED LIGHT, PER EACH	18	EACH	\$150.00	\$2,700.00	\$200.00	\$3,600.00	\$156.92	\$2,824.56	
X125.651	SPARE ELECTRICAL EQUIPMENT, ALT A	1	LS	\$857.00	\$857.00	\$1,000.00	\$1,000.00	\$896.54	\$896.54	
311.0110.S	BREAKER RUN	1000	TON	\$40.60	\$40,600.00	\$31.00	\$31,000.00	\$45.38	\$45,380.00	
628.1905	MOBILIZATIONS EROSION CONTROL	2	EACH	\$400.00	\$800.00	\$150.00	\$300.00	\$106.71	\$213.42	
628.1910	MOBILIZATIONS EMERGENCY EROSION CONTROL	2	EACH	\$400.00	\$800.00	\$200.00	\$400.00	\$160.06	\$320.12	
628.2008	EROSION MAT, URBAN CLASS I TYPE B	700	SY	\$2.50	\$1,750.00	\$2.50	\$1,750.00	\$2.09	\$1,463.00	
628.7005	INLET PROTECTION TYPE A	3	EACH	\$175.00	\$525.00	\$100.00	\$300.00	\$80.03	\$240.09	
628.7504	TEMPORARY DITCH CHECKS	50	LF	\$10.00	\$500.00	\$6.00	\$300.00	\$5.34	\$267.00	
628.7560	TRACKING PADS	1	EACH	\$2,300.00	\$2,300.00	\$3,000.00	\$3,000.00	\$3,363.14	\$3,363.14	
628.7570	ROCK BAGS	10	EACH	\$15.00	\$150.00	\$25.00	\$250.00	\$21.97	\$219.70	
Alternate A			1.0	\$07.0CT.0C	\$1,335,772.45	\$20.000.00	\$1,450,901.00	\$94.000.00	\$1,657,707.19	
C105.010	MOBILIZATION (10% MAXIMUM) LOCATE AND PROTECT EXISTING	1	LS	\$27,987.25	\$27,987.25	\$33,000.00	\$33,000.00	\$31,000.00	\$31,000.00	
L108.101	CIRCUITS	1	LS	\$5,000.00	\$5,000.00	\$14,000.00	\$14,000.00	\$5,230.67	\$5,230.67	
L108.508	5000 VOLT CABLE NO. 8	11500	LF	\$1.95	\$22,425.00	\$2.20	\$25,300.00	\$2.04	\$23,460.00	
X108.260	REMOVE CABLE FROM EXISTING DUCT	11000	LF	\$1.25	\$13,750.00	\$1.50	\$16,500.00	\$1.31	\$14,410.00	
X109.107	REGULATOR 6.6A 7.5KW, 5-Step, 480V	1	EACH	\$14,742.50	\$14,742.50	\$16,000.00	\$16,000.00	\$15,430.39	\$15,430.39	

MINISTRATE MARCHANDRIS MAINT DOWN AND 1					т .							
1979 1979	X109.600	Description MISCELLANEOUS VAULT WORK, ALT B	Quantity 1	Unit LS	Unit Price \$7,500.00	Total \$7,500.00	Unit Price \$8,500.00	Total \$8,500.00	Unit Price \$7,846.00	Total \$7,846.00	Unit Price	Total
1998 COLT MARKET COLT MA	L110.221	FLECTRICAL DUCT TYPE-II 2-INCH 1-WAY	9500	LF	\$10.00	\$95,000,00	\$11.00	\$104,500.00	\$10.46	\$99.370.00		
1925 1925	L110.300		22	EACH								
March Marc			1	FACH	\$2,500,00	\$2,500,00	\$2,700.00	\$2,700.00	\$2,615,34	\$2,615,34		
MICHAEL MARKEN	L123.210		<u> </u>	LACIT	Ψ2,300.00	\$2,500.00	\$2,700.00	ψ2,700.00	\$2,013.34	Ψ2,010.04		
1.0000 1.000000 1.000000 1.000000 1.000000 1.000000 1.000000 1.000000 1.000000 1.000000 1.000000 1.000000 1.0000000000	X125.211	850C(L), CLASS 2, MODE 1, STYLE 2, FIXTURE ONLY	1	EACH	\$2,000.00	\$2,000.00	\$2,200.00	\$2,200.00	\$2,092.27	\$2,092.27		
THE STATE OF THE S	X125.212		1	LS	\$5,000.00	\$5,000.00	\$5,500.00	\$5,500.00	\$5,230.67	\$5,230.67		
N.	L125.360	THRESHOLD LIGHT, LED, BASE MOUNTED	51	EACH	\$1,565.00	\$79,815.00	\$1,700.00	\$86,700.00	\$1,637.20	\$83,497.20		
STATES S	X125.361	THRESHOLD LIGHT, LED, BASE MOUNTED, FIXTURE ONLY	7	EACH	\$950.00	\$6,650.00	\$1,000.00	\$7,000.00	\$993.83	\$6,956.81		
\$1,000.00 \$1,000	L125.620		51	EACH	\$150.00	\$7,650.00	\$200.00	\$10,200.00	\$156.92	\$8,002.92		
ACM SECOND STORES - SAME ALCHIOLOGIC ALCONNACE	X125.621		8	EACH	\$125.00	\$1,000.00	\$150.00	\$1,200.00	\$130.77	\$1,046.16		
ABSTRACE DESCRIPTION DESCRIPTION CONTROL 200 LT 200 SERVICE	X125.652	SPARE ELECTRICAL EQUIPMENT, ALT B	1	LS	\$7,840.00	\$7,840.00	\$8,500.00	\$8,500.00	\$8,201.69	\$8,201.69		
CONDUIT	X125.990	ALCMS UPGRADE ALLOWANCE	20000	DOL	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	
CHISO100 MORRIZATION (UNS. MAXMAM)	NS110.001		200	LF	\$28.50	\$5,700.00	\$30.00	\$6,000.00	\$29.81	\$5,962.00		
LICATH AND PROTECT EXISTING 1	Alternate B	Total				\$327,859.75		\$372,200.00		\$343,804.36		
Color Colo	C105.010	MOBILIZATION (10% MAXIMUM)	1	LS	\$34,828.75	\$34,828.75	\$44,000.00	\$44,000.00	\$36,614.00	\$36,614.00		
NOTE	L108.101		1	LS	\$2,500.00	\$2,500.00	\$6,500.00	\$6,500.00	\$2,615.00	\$2,615.00		
1.05.508 SOO VOLT CABLE NO. 8	X108.260		14500	LF	\$1.25	\$18,125.00	\$1.50	\$21,750.00	\$1.31	\$18,995.00		
1.108.776 BARE COUNTERPOISE WIRE NO. 6 8500 IF 51.30 511,000.00 51.00 512,770.00 51.30 511,000.00 51.00 51.00.00 51.0	L108.320	COUNTERPOISE PLOW	8500	LF	\$1.35	\$11,475.00	\$1.50	\$12,750.00	\$1.41	\$11,985.00		
L108.810 COUNTERPOISE GROUND ROD 20 EACH \$100.00 \$3.200.00 \$4.000.00 \$167.30 \$3.3.47.00 \$1.000.0	L108.508	5000 VOLT CABLE NO. 8	10500	LF	\$1.95	\$20,475.00	\$2.20	\$23,100.00	\$2.04	\$21,420.00		
NOTE MISCELLANEOUS VAILT WORK, ALT C	L108.706	BARE COUNTERPOISE WIRE NO. 6	8500	LF	\$1.30	\$11,050.00	\$1.50	\$12,750.00	\$1.36	\$11,560.00		
L110121 ELECTRICAL DUCTTYPE-12-INCH 1-WAY 300 LF \$2000 \$8,00000 \$2200 \$8,00000 \$3082 \$8,078.00 \\ L110221 ELECTRICAL DUCTTYPE-12-INCH 1-WAY 800 LF \$1000 \$86,00000 \$1100 \$100,0000 \$1104 \$89,070.00 \\ L110300 DUCT MARKER 22 EACH \$10000 \$3,00000 \$120000 \$4,40000 \$116.62 \$3,402.24 \\ L125343 MEDUIN INTERSITY TAXIWAY LIGHT, L- INTERSITY FAXIWAY LIGHT, L- INTERSITY FAXI	L108.810	COUNTERPOISE GROUND ROD	20	EACH	\$160.00	\$3,200.00	\$200.00	\$4,000.00	\$167.38	\$3,347.60		
L110.221 ELECTRICAL DUCT TYPE-II 2:NCH 1-WAY	X109.601	MISCELLANEOUS VAULT WORK, ALT C	1	LS	\$6,000.00	\$6,000.00	\$7,000.00	\$7,000.00	\$6,277.00	\$6,277.00		
L1103-00 DUCT MARKER 22 EACH 31600 \$33,000 \$4,000 \$16,000 \$11,0070 \$10,0070 \$1,0070 \$10,0070	L110.121	ELECTRICAL DUCT TYPE-I 2-INCH 1-WAY	300	LF	\$20.00	\$6,000.00	\$22.00	\$6,600.00	\$20.92	\$6,276.00		
	L110.221	ELECTRICAL DUCT TYPE-II 2-INCH 1-WAY	9500	LF	\$10.00	\$95,000.00	\$11.00	\$104,500.00	\$10.46	\$99,370.00		
1125-254	L110.300	DUCT MARKER	22	EACH	\$150.00	\$3,300.00	\$200.00	\$4,400.00	\$156.92	\$3,452.24		
Name	L125.343		118	EACH	\$1,056.25	\$124,637.50	\$1,200.00	\$141,600.00	\$1,105.76	\$130,479.68		
X125.480 REMOVE BASE CAN WITH LID	X125.344		28	EACH	\$506.25	\$14,175.00	\$600.00	\$16,800.00	\$529.61	\$14,829.08		
X125.480 REMOVE BASE CAN WITH LID	X125.345		1	LS	\$7,500.00	\$7,500.00	\$8,000.00	\$8,000.00	\$7,846.00	\$7,846.00		
MOUNTED LIGHT, PER EACH 102 EACH S150.00 S150	X125.480		4	EACH	\$150.00	\$600.00	\$200.00	\$800.00	\$156.92	\$627.68		
X125.621 REMOVE RUNNAY OR TAXIWAY BASE MOUNTED CIGHT FIXTURE ONLY X125.653 SPARE ELECTRICAL EQUIPMENT, ALT C 1 LS \$2.600.00 \$3.000.00 \$3.000.00 \$2.719.95 \$	L125.620		102	EACH	\$150.00	\$15,300.00	\$170.00	\$17,340.00	\$156.92	\$16,005.84		
X125.653 SPARE ELECTRICAL EQUIPMENT, ALT C	X125.621	REMOVE RUNWAY OR TAXIWAY BASE	28	EACH	\$125.00	\$3,500.00	\$150.00	\$4,200.00	\$130.77	\$3,661.56		
Alternate C Total Sample C Total Sa	X125.653		1	LS	\$2,600.00	\$2,600.00	\$3,000.00	\$3,000.00	\$2,719.95	\$2,719.95		
Alternate C Total C105.010 MOBILIZATION (10% MAXIMUM) 1 LS \$36,187.80 \$36,187.80 \$44,000.00 \$44,000.00 \$37,870.00 \$37,870.00 \$37,870.00 \$1.00 \$	NS110.001		100	LF	\$28.80	\$2,880.00	\$30.00	\$3,000.00	\$29.81	\$2,981.00		
C105.010 MOBILIZATION (10% MAXIMUM) 1 LS \$36,187.80 \$36,187.80 \$44,000.00 \$44,000.00 \$37,870.00 \$37,870.00 \$10,000 \$10	Alternate C					\$383,146.25		\$442,090.00		\$401,062.63		
1.107.011 AIRPORT WIND CONE L-806(L) STYLE I-B 1 EACH \$9,221.25 \$9,221.25 \$15,000.00 \$15,000.00 \$9,729.00 \$9,729.00 \$9,729.00 \$15,000.00	C105.010		1	LS	\$36,187.80		\$44,000.00		\$37,870.00			
SIZE 1 RWY 33	L107.010	SIZE 1 RWY 15	1	EACH	\$9,221.25	\$9,221.25	\$15,000.00	\$15,000.00	\$9,729.00	\$9,729.00		
L108.101	L107.011		1	EACH	\$9,221.25	\$9,221.25	\$15,000.00	\$15,000.00	\$9,729.00	\$9,729.00		
L108.508 5000 VOLT CABLE NO. 8 9300 LF \$1.96 \$1.813.50 \$2.20 \$2.046.00 \$2.04 \$1.897.20 \$1.08.706 BARE COUNTERPOISE WIRE NO. 6 465 LF \$1.30 \$604.50 \$1.50 \$697.50 \$1.36 \$632.40 \$1.10.221 ELECTRICAL DUCT TYPE-II 2-INCH 1-WAY 465 LF \$1.000 \$4.650.00 \$1.100 \$5.115.00 \$10.46 \$4.663.90 \$1.1000 \$1.1000 \$1.1000 \$1.1000 \$1.1000 \$1.1	X107.012		2	EACH	\$1,600.00	\$3,200.00	\$2,000.00	\$4,000.00	\$1,674.00	\$3,348.00		
L108.706 BARE COUNTERPOISE WIRE NO. 6 465 LF \$1.30 \$604.50 \$1.50 \$697.50 \$1.36 \$632.40 \$ L110.221 ELECTRICAL DUCT TYPE-II 2-INCH 1-WAY 465 LF \$10.00 \$4.650.00 \$11.00 \$5.115.00 \$10.46 \$4.863.90 \$ L125.130 REIL LED CONSTANT CURRENT L-849I(L), 1 LS \$28.332.50 \$31.000.00 \$31.000.00 \$29,815.00 \$29,815.00 \$ L125.131 REIL LED CONSTANT CURRENT L-849I(L), 1 LS \$28.332.50 \$31.000.00 \$31.000.00 \$29,815.00 \$29,815.00 \$ L125.131 REIL LED CONSTANT CURRENT L-849I(L), 1 LS \$28.332.50 \$31.000.00 \$31.000.00 \$29,815.00 \$29,815.00 \$29,815.00 \$ L125.132 REMOVE REIL SYSTEM 1 LS \$3.500.00 \$3.500.00 \$4.000.00 \$3.661.47 \$3.661.4	L108.101	CIRCUITS						. ,				
L110.221 ELECTRICAL DUCT TYPE-II 2-INCH 1-WAY 465 LF \$10.00 \$4.650.00 \$11.00 \$5.115.00 \$10.46 \$4.863.90 L125.130 REIL LED CONSTANT CURRENT L-849I(L), 1 LS \$28.332.50 \$28.332.50 \$31.000.00 \$31.000.00 \$29.815.00 \$29.815.00 \$11.25.131 REIL LED CONSTANT CURRENT L-849I(L), 1 LS \$28.332.50 \$31.000.00 \$31.000.00 \$29.815.00 \$29.815.00 \$29.815.00 \$29.815.00 \$31.000.00 \$31.000.00 \$31.000.00 \$31.000.00 \$39.815.00 \$31.000.00 \$												
L125.130 REIL LED CONSTANT CURRENT L-849I(L), STYLE E, RWY 15 STYLE E, RWY 35	L108.706											
STYLE E, RWY 15 L125.131 REIL LED CONSTANT CURRENT L-849I(L), 1 LS \$28,332.50 \$31,000.00 \$31,000.00 \$29,815.00 \$29,815.00 \$29,815.00 \$11,000.00 \$29,815.00 \$29,815.00 \$11,000.00 \$29,815.00 \$11,000.00 \$29,815.00 \$29,815.00 \$11,000.00 \$11,000.00 \$29,815.00 \$11,000.00 \$11,000.00 \$29,815.00 \$11,000.0	L110.221 L125.130	REIL LED CONSTANT CURRENT L-849I(L),								. ,		
X125.132 REMOVE REIL SYSTEM 1 LS \$3,500.00 \$3,500.00 \$4,000.00 \$3,661.47 \$3,661.47 \$1,254.00 LED GUIDANCE SIGN, 1-MODULE, PER 5 EACH \$3,707.50 \$18,537.50 \$4,000.00 \$20,000.00 \$3,878.02 \$19,390.10 \$1,254.10 LED GUIDANCE SIGN, 2-MODULE, PER 12 EACH \$4,652.50 \$55,830.00 \$5,000.00 \$60,000.00 \$4,867.66 \$58,411.92 \$1,254.20 LED GUIDANCE SIGN, 3-MODULE, PER 11 EACH \$5,943.75 \$65,381.25 \$6,500.00 \$71,500.00 \$62,18.22 \$68,400.42 \$1,254.30 LED GUIDANCE SIGN, 4-MODULE, PER 4 EACH \$7,283.75 \$29,135.00 \$80,000.00 \$72,000.00	L125.131	REIL LED CONSTANT CURRENT L-849I(L),										
L125.400 LED GUIDANCE SIGN, 1-MODULE, PER 5 EACH \$3,707.50 \$18,537.50 \$4,000.00 \$20,000.00 \$3,878.02 \$19,390.10 L125.410 LED GUIDANCE SIGN, 2-MODULE, PER 12 EACH \$4,652.50 \$55,830.00 \$5,000.00 \$60,000.00 \$4,867.66 \$58,411.92 L125.420 LED GUIDANCE SIGN, 3-MODULE, PER 11 EACH \$5,943.75 \$65,881.25 \$6,500.00 \$71,500.00 \$62,18.22 \$68,400.42 L125.430 LED GUIDANCE SIGN, 4-MODULE, PER 4 EACH \$7,283.75 \$29,135.00 \$80,000.00 \$32,000.00 \$7,620.05 \$30,480.20 L125.460 LED RUNWAY DISTANCE REMAINING 3 EACH \$4,043.75 \$12,131.25 \$4,400.00 \$13,200.00 \$42,30.57 \$12,691.71 \$1125.630 REMOVE TAXIWAY GUIDANCE SIGN, PER 30 EACH \$2,850.00 \$86,500.00 \$2,900.00 \$2,	X125.132		1	LS	\$3,500.00	\$3,500.00	\$4.000.00	\$4,000.00	\$3.661.47	\$3.661.47		
L125.410 LED GUIDANCE SIGN, 2-MODULE, PER 12 EACH \$4,652.50 \$55,830.00 \$5,000.00 \$60,000.00 \$4,867.66 \$58,411.92 L125.410 LED GUIDANCE SIGN, 3-MODULE, PER 11 EACH \$5,943.75 \$66,581.25 \$6,500.00 \$71,500.00 \$62,18.22 \$68,400.42 L125.430 LED GUIDANCE SIGN, 4-MODULE, PER 4 EACH \$7,283.75 \$29,135.00 \$8,000.00 \$32,000.00 \$7,620.05 \$30,480.20 EACH L125.440 LED RUNWAY DISTANCE REMAINING 3 EACH \$4,043.75 \$12,131.25 \$4,400.00 \$13,200.00 \$4,230.57 \$12,691.71 \$125,630 REMOVE TAXIWAY GUIDANCE SIGN, PER 30 EACH \$2,850.00 \$86,500.00 \$2,900.00 \$2	L125.400	LED GUIDANCE SIGN, 1-MODULE, PER										
L125.420	L125.410	LED GUIDANCE SIGN, 2-MODULE, PER										
L125.430	L125.420	LED GUIDANCE SIGN, 3-MODULE, PER	11	EACH	\$5,943.75	\$65,381.25	\$6,500.00	\$71,500.00	\$6,218.22	\$68,400.42		
SIGN, STYLE 3, SIZE 5 SEACH \$4,440.00 \$13,200.00 \$4,20.37 \$12,091.71 \$12,630 REMOVE TAXIWAY GUIDANCE SIGN, PER 30 FACH \$2,850.00 \$88,500.00 \$2,900.00 \$87,000.00 \$2,981.48 \$89,444.40	L125.430	LED GUIDANCE SIGN, 4-MODULE, PER EACH	4	EACH	\$7,283.75	\$29,135.00	\$8,000.00	\$32,000.00	\$7,620.05	\$30,480.20		
	L125.460	SIGN, STYLE 3, SIZE 5	3	EACH	\$4,043.75	\$12,131.25	\$4,400.00	\$13,200.00	\$4,230.57	\$12,691.71		
EACH	L125.630	REMOVE TAXIWAY GUIDANCE SIGN, PER EACH	30	EACH	\$2,850.00	\$85,500.00	\$2,900.00	\$87,000.00	\$2,981.48	\$89,444.40		

				_							
Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
X125.654	SPARE ELECTRICAL EQUIPMENT, ALT D	1	LS	\$2,987.50	\$2,987.50	\$3,500.00	\$3,500.00	\$3,125.85	\$3,125.85		
Alternate D Total			\$398,065.80		\$443,058.50		\$416,967.04				
GRAND TOTAL (Base Bid, Alt A, B, C, & D) =					\$6 304 300 65		\$6 543 444 25		\$7 125 823 21		